'.»,"g'::ﬂ

LS

JUE— 2018-2019 =5 F=Hf

S=EREEREN (1) 4, EAISHEN=NENERT , WEMIMNERERERA( )
RHE60 %0 91004  @BEAMER SR AR /\ / ; il
|~f [—-l
—. PRI (/N5 4, 3£ 10 N 50 49) EHE
1. BmEsSf (v)Ess € R, &S (0) + f(—2) =0, Bz > 0
() = In(x+ 1), nEsf (v)wasEsn ) AT Y
¥ ¥ ¥ y .
L E
\ / - Al6m B.T Cdm D27
0 X |n X —_/|o X |o g
| 5. % € (—oc, —1me, Zi%:‘:t(mQ —m)-4" =27 < Ofgmgsz, W
o | SHMNIEERE( )
2. #el, e} RFAN 60T MANIEE , W' =26 + 62, ) = 3¢, +2¢) A(=2,1) B(—4,3) c(—1,2) D(—3,4)
kR ).
A’na Bnmﬁ l )JA'IBI JV AAQBQ + - + AIUOBIOOE'J{Ejﬂ( )
3. wFE, E=EABC — Ay B O\ WIERERSKAAGEST , 1 98 99 100 101
WIE=REEOMEERA( ) A99 B100 “To1 P02
G
A AN *’*.**I*I 7. BAABCH , a, b, coginmA, B, Coxdin, &
i i B
: b cos? = = “TC MAABCEEAN ()
= P 2z
S [ ATE=Fs BEA=AN
: £ kXA CEB=f D ZE=fafyER =

A8V3 B.AV3 CoV3 D.16



8. Balf (zppeENER TSES , Bf (1) <
ESZ_L me )
Af(2) > e
B.f(2) <e
cf(2) > e’
D.f(2) < e’

J/(x)EEr € RiE

2/(0> , 1(2012) >e**"? £(0)

f(o),_ f(2012) > 22 £(0)

f(U): F(2012) < "2 £(0)

21(0), £(2012) < ™2 f(0)
9. ZHE{an JEmIRRS, (n € N¥) , S4Emafiasdasi
B, a7 + ag - anE—4EE, WFERRAEENE ()
A.Sl5 B.Sm C.Sl7 D.Slg

—8sin2x,x<0

g f(x)=11 7 Mg h(x) = f(x)—log, x
_f(x__)ax >0

2 2

FEMNEA ()

A2 A4 B.34 C.44 D.54

= REREE (F/MEE 5 53, 3t 4 VR 20 43)

2?8

11 BRBEFIORER L) -5 2, MERSReRe
)

12. EAABCH , A, B, Crdritsassina, b, ¢.
a
g2&bcosC' + ccos B = 2b, ME =

13, @ f () = (v — 2)e"mxa0, 2] FaomIvEs

x+8

14, BNESSYRECF2Y=2 U wmEh

=\ BRERR (B/ME 15 4, 3£ 2 /EE 30 43)

r = 3cosl
15, E%DH&%C:{ = Seos
y = 2sinf

(VBRI N ERAITSTE
(RMPEMEC L, RPREIELESNSR/IVE .

cagl : plcosf — 2sinf) =12

16, W@ , P — ABC D, g@mABC DEsR
ZBAD = 60°, ¥EPAD 1 ¥&@ABCD,
PA=PD=AD =2, QRADWFR, MEEPCEt—H, B

1
PM = ;—3'PC'.

(1)K : PQLFBABCD ;
(2)iFR: PA//=mBMQ ;
(3) k=@M — BQ — CruEs



